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ABM COLLEGE, JAMSHEDPUR

Time : 1½ hrs.Full Marks : 50

SUBJECT : ENGLISH (ELECTIVE)
INTERMEDIATE  (XI)  INTERNAL  EXAM, 2020

There is 50 multiple choice questions in all questions are compulsory.
Each question carries 1 mark.

Read the following passage and answer the questions that follow :

A noise is a sound that is unpleasant to the ears. However, a noise unpleasent to one person may be pleasant to
another. In scientific terms noise is made by an irregular pattern of sound waves. There are a number of things
which make our world unpleasantly or ever dangerously noisy, such as jet air craft, taking off, roaddrills, heavy
traffic or loudspeakers. The sound waves bang into structures and cause them to vibrate giving rise to noise. In
the process, they get damaged. In younger people deafness can be caused by too loud a noise or from
prolonged exposure to loud noise produced by too much amplification or by a machine in the factory. The noise
depends on the energy the sound waves carry. Decibel scale is used to measure loudness of the sound.

1) The sound that is unpleasant to the ears
a) Voice b) Shrillness c) Noise d) Loud

2) In scientific form arise is made by
a) Regular noise b) Shrillness of voice c) Dangerously noise
d) An irregular pattern of sound waves

3) The sound waves bang into
a) Structures b) Vibration c) Damaged d) Decibel scale

4) Amplification means
a) Decreasing b) Brightness c) Increasing d) Attitude

5) The noise depends in the energy of
a) Noise b) Number c) Volume d) Sound wave

6) A noise is a sound that is unpleasant to
a) Nose b) Ears c) Head d) Legs

Read the following poem and answer the questions that follow from 7-10

And all the Men and Women merely players. They have their exits and entrances. And one man in his time
plays many parts, his acts being seven ages. At first the infant, Mewling and Pucking in the nurse's arm.

Then the whining school boy with his satchel and shining morning face, creeping like snail unwillingly to school.
And then the lover signing like furnace with a woeful ballad made to his mistress eyebrow. Then a soldier, full
of strange oath and beard like the pard jealous in honour sudden and quick in quarrel seeking the bubble
reputation. Even in cannon's mouth.

7) The poet compares this world to a
a) House b) Player c) Theatre d) Stage

8) How many stages ae there in Man's life?
a) Two b) Four c) Seven d) Six
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9) Which is the first stage of Man's life
a) Infant b) School boy c) Lover d) None of these

10) What does the poet mean by the word 'exists'?
a) Death b) Birth c) Old d) Poor

11) Reporting of an event is done in
a) Second person b) First person c) Third person d) Fourth person

12) Creative writing doesnot include
a) Report writing b) Article writing c) Letter writing d) Delivering speech

13) "Thanks giving is written in which of the following piece of writing".
a) Speech writing b) Report writing c) Article writing d) None of these

14) While writing articles where should the written mentioned his / her name?
a) At the top b) At the end c) Any where d) Howhere

15) One should start a speech by
a) Announcing the topic of the speech b) Greeting the chief guest
c) Specifying the occasion of speech d) None of these

16) A pair of Mustachios is written by
a) D.H. Lawrence b) Mulk Raj Anand c) Jhumpa Lahiri d) Arundhati Roy

17) Jona is a character of
a) Glory at Twilight b) The Luncheon c) The Lament d) Pappachi's Moth

18) The surname of Iona is
a) Gorbachov b) Potapov c) Kotapov d) None of these

19) Pappachi, in the story pappachi's moth is jealous of
a) His colleagues b) His friends c) His sister d) Mammachi

20) Mammachi had started making
a) Papad b) Pickles c) Jam d) Noodles

21) The narrator of the story "The Luncheon" was sitting in a restaurant of
a) Dublin b) Paris c) America d) India

22) Satyajit started his career as a
a) Bank Clerk b) Doctor c) Teacher d) Salesman

23) The fundamental aspect of Novel is
a) Story telling b) Giving Lecture c) Speech d) None of these

24) The author of the essay "The Story" is
a) D-H Lawrence b) E. M. Forster c) Kamala Das d) None of these

25) The author of the Story "My Three Passions" is
a) D-H Lawrence b) Bertrand Russel c) Mark Twain d) None of these
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26) The watch was showing November into the month of
a) April b) March c) October d) May

27) The poet of the poem Let me not to be marriage of true mind is
a) John Keats b) W.B. Yeats c) William Shakespeare d) None of these

28) The phrase "Marriage of two minds" means
a) Merger of two lovers into one b) Merger of two lovers into two
c) Merger of three lovers into three d) None of these

29) The line looks on tempests and is newer shaken means
a) Coward b) Fearlessness c) Lazy d) None of these

30) What does the term than "That" mean
a) True love b) Late c) Passion d) None of these

31) The phrase wondering bark means?
a) Dead body b) Living body c) Steel body d) None of these

32) The pronoun "His" has been used for
a) Late b) Love c) War d) None of these

33) What does "Edge of doom" refer to
a) Bright day b) Rose day c) Doomed day d) None of these

34) "If  this be error" what does this refer to
a) Characteristics of  love b) Characteristics of  late
c) Characteristics of  Climate d) None of these

35) According to this sonnet love is
a) Immortal b) Eternal c) Both a & b d) None of these

36) In the poem the term "Marriage" is referred to as
a) Harmony b) Merger c) Both a & b d) None of these

37) Who was the first dance teacher of Kumudini Lakhia?
a) Radhelal Mishra b) Ram Gopal c) Miss Cox d) Guru Sundar Prasad

38) Who has written the poem "The Peacock"?
a) Kamala Das b) Ted Hughes c) Sujata Bhatt d) John Keats

39) Bhabani Bhattacharya has written the story
a) Pappachi's Moth b) A Pair of Mustachios c) The Lament d) Glory at Twilight

40) The Rocking Horse winner is written by
a) Arundhati Roy b) Jhumpa Lahiri c) Anton Chekov d) D. H. Lawrence

41) The auhor of the play "Arms and the Man" is
a) John Keats b) George Bernard Shaw c) John Ruskin d) None of these

42) The Bedroom is half rich Bulgaria and half cheap
a) Vienese b) Chinese c) French d) Dutch
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43) The Lady's bedroom is in a small town near
a) Dragoman Pass b) Khyber Pass c) Gate Pass d) None of these

44) Caterine Nebulas Raina for exposing hesel if to the ................ air
a) Day b) Evening c) Noon d) Night

45) Beyond the fences ................... Minarets are available
a) Three b) Two c) Four d) Five

46) The author of the novel "The Old Man and Sea" is written by
a) R. K. Narayan b) Ernest Hemingway c) Khuswants Singh d) None of these

47) Santiago fishes with a boy called to
a) Monolin b) Violin c) Dublin d) None of these

48) Santiago belonged to a country called
a) Brazil b) Cuba c) France d) None of these

49) Santiago catches fish in the Gulf stream of
a) Evaroy Coast b) Indian Coast c) Havana Coast d) French Coast

50) The old fisherman who catches fish is
a) David b) Santiago c) Paul d) Decosta


